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1 1 1
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3 9 27
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using System;
namespace FinalProgramming2

{
class Program
{
static void Main(string[] args)
{
int n;
Console.Write("Enter n value:");
n = Convert.ToInt32(Console.ReadLine());
for (int i = 1; i <= n; i++)
{
if (i % 5 == @)
continue;
Console.WriteLine(i);
}
Console.ReadKey();
}
}
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int x = 30, y = 5, Result;
Result = (x >0 && y < @) ? x / y : x * y;
Console.Write("Result: {@}", Result);

Double y = 15 + 9.8 / 2 - 1;
Console.Write("Y={0}", y);

C.
int x =1, y = 0;
if (x>0 || y<0)
{x=y=23;}

Console.Write("X={0} , Y={1}", X, y);

int x = 10, y = 40;
if (x >= 10)
if (y < 40)
{ y++; }
else
{y-51}
Console.Write("X={0} , Y={1}", X, ¥);

int N = 17;
Console.WriteLine((N = 16));



